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Q Response Review

Student ID/Username:

stuf723036

College:

Grade7

Exam:

Grade 7 - General- Reveal - Mat...

Full Name: Group/CRN:

welsyl dozo loyl IMAN MOHA... $PC-1085AD-G7-GEN-4 (943723)
Course Name:
G7GEN.MTH - Mathematics G7

Activity Type: Time Spent:

Final 63 mins, 22 secs

Q.1: Use proportional relationships to find the amount to pay for a tip and the amount of markup

The cost of a tablet is $100.
The markup for the tablet is 17%.
Find the selling price of the tablet.

' $17
§117
b.
$83
$101.7

Delivery Method:

Digital

Area/Branch Name:

AL SHIYAM 1085AD ouidl

Total Marks:

102/120

Mark(s): 0/5

$100 a5l Slgal) dalss
c17% Sslas Al Slgall ol ala
IR i VRN SVRRRIPINEN



H BONUS *#**** Use proportional relationships to solve percent of change problems Mark(s): 0/4

Suhail increased his savings from ) AED 150 (e diade Jagan o))
AED 150 to AED 180, What is the .AED 180
percent of change in his saving? fA3a0a B asill dygial) L) 4 La

w
2
=

83%
b.

20%

40%



Q.3: Determine if a relationship is proportional by analyzing its graph Mark(s): 5/5

Choose the graph that does not Al ABe Jia Y el Al Jaial )

represent a proportional relationship.
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Q.4: Identify the constant of proportionality in the equation representing a proportional relationship Mark(s): 5/5
A mechanic charges $270 for e alele 9 Llia $270 Sl aldty
9 hours of work on a car. The Alalaal) aladio) (e Bl o Jaall
equation y = 30x can be used to (Aggall 1aa Ly = 30x
represent this situation. Kol el aas

Identify the constant of
proportionality k.

k=30
k = 270
b.
k=9
k =27



Q.5: Write equations to represent proportional relationships Mark(s): 5/5

Mohammad bought 4 cups of a AED 32 Jilie 558 (re lsSl 4 Leaa (538
coffee for AED 32. Write an leSh aaeg v Audlaay) dACHIL glatl Alalaa IS
equation relating the total cost y to Al ANl il 1Y) X Bl idiall Begdl)

the number of coffee cups bought x

if it is a proportional relationship.



Q.6: Divide integers Mark(s): 5/5

Find —36 + (—9). —36 + (—9) zb 2l

—4
b.
—8



Q.7: Multiply rational numbers Mark(s): 5/5

.4 9 4 9 .
Find —(——). .—(— —) A o)
7 8 7 8

Write in simplest form. By e b B L)

95
56



Q.8: ***** BONUS ***** Use proportional relationships to find the amount of commission earned Mark(s): 4/4

Adnan wants to earn at least $1000 oA 1 J8Y) e $1000 s Gl &
this month in commission. Al gand)

What is the minimum amount he needs 13) desd prUias (o3) aduall SaY) aad) ga

to sell if he earns a 10% commission? fdlges 10% Ao Jua
| $10000 §
$100
b.
$1100
$10



Q.9: Additive inverse of a rational number Mark(s): 5/5

93 93 .
Find the additive inverse of — —. o— 1 ) | Aaq)
100 100 ~ ¢ ool sy

—-0.9

0.9



Q.10: Add integers Mark(s): 5/5

Find 12 + (-7). A2 4 (—=7) g5t aagl



Q.11: Add rational numbers Mark(s): 5/5

. 3 5 3 5 ¢
Flnd—25+15 -—25+1§J+\3'|
L6
B
3
8
b.
6
. 8
3
8



Q.12: Convert fractions to decimal equivalents Mark(s): 5/5

16 16
Write — as decimal. (S A By ga o — s
25 " 25
. 0.64
0.64
b.
0.6
0.646



P FHEEE BONUS **¥#* Use proportional relationships to find the amount of discount or markdown Mark(s): 4/4

Find the sale price in the discount she eyl claaadsl) 538 8 adl mu gl
period for a perfume, if its price .60% amaslly cAED 650 gid < 1))
AED 650, and it has discount 60%.

AED 390

AED 520

AED 130



Q.14: Multiply integers Mark(s): 5/5

Find (—4)(2)(-5)- (—4)(2)(=5) U 2
o
.
) — ot
—80



Q.15: Use proportional relationships to find the amount of tax charged for an item Mark(s): 5/5

What is the total cost of a jacket if A3 ilS 1) Calanal dallea) dll<hl) L
its cost AED 20 and the sales tax £10% cilassal Z,aij AED 20

is 10%7?

>
32|
=)
N
N

AED 18

AED 30



Q.16: Order of integer operations to evaluate expressions Mark(s): 5/5

Evaluate 3(—5) — (—4). 3(=5) = (—4) «a)

—19
b.
11

19



Q.17: Subtract integers Mark(s): 5/5

Find —23 — (—6). —23 — (—6) gl 2l



Q.18: Explain what the points (0, 0) and (1, r) mean on the graph of a proportional relationship Mark(s): 5/5

The total cost of online streaming e Al Saliad) ult dtleal) dalcal
of TV is proportional to the AN 2% pa Gl ey
number of months. Aasaal) 5ylell 3

Choose the correct statement.

40

0 52 dasgll Jaaa

The unit rate is 0

10 sa saagl) Jana
The unit rate is 10

Gugs J< $15 Al
It costs $15 for every two months



Q.19: Determine whether two quantities shown in a table are in a proportional relationship Mark(s): 5/5

Which table represents a C ol ddle Jiay Jgan (_*5?

proportional relationship?

B 12 14 16



Q.20: Proportional relationship between quantities Mark(s): 5/5

A strand of hair grows at a constant 0.5 mm o <l Juaes adi dlad gall
rate of 0.5 mm per day. ol Jaras daline ok dlas gaii.agl) B8
A different strand of hair grows at a lfJ.g.fn 13 mm aly
constant rate of 13 mm per month. Al ABNe Jia CaBgall 138 S 1Y) L das

Determine if this situation represents

a proportional relationship.

g B 13 mm AY) ddlly jedd) B 15 mm LAY ) ¢y

No; One ratio is 15 mm per month and the other is 13 mm per month.

g4 B 15 mm dad daal LaadS ¢

Yes, both have a ratio of 15 mm per month.

g4 2 13 mm Lo 4l LaddlS €

Yes, both have a ratio of 13 mm per month.

C.

5D B 12 mMm A 4al LaAdS ¢aas

Yes, both have a ratio of 12 mm per month.



Q.21: Solve problems involving proportional relationships Mark(s): 5/5

Maha bought 3 shirts for AED 20. a8l LAED 20 Jide (ladd 3 lga il

Assume the relationship between Lillaal) dalSilly olaedl) sae (pu dBMaY)
the number of shirts and total flatd 12 Jilia lga pdain aS 4l

cost, is proportional. How much

Maha will pay for 12 shirts?

>
£l
=)
o)
=

AED 60

AED 100



Q.22: ***** BONUS ***** Find unit rates when one or both quantities are fractions Mark(s): 4/4

d.

A small electric bike speed is 24 Jie 24 Byamall 430 ,g<l daf)all depu L
2 . . 2 .

miles in ~ hour. At this rate, how diad) 230 oS Janall 13gy Aol T 2

many miles can it drive in 1 hour? f81aly dolu 93 lgabkii o) (K =

L Aol b Jwe 36

36 mile in one hour

deludl b Jue 16

16 mile in one hour

- ) 1

1 .
B mile in one hour

- ) 1

1 .
Te mile in one hour



Q.23; *¥¥¥* BONUS ***** Use the simple interest formula to find the amount of interest earned Mark(s): 0/4

Ahmad puts AED 1,500 into a aldl gl Glua 3 AED 1,500 seaf
savings account. The account pays 2% dewdy ddasin danlpe bl B, L
2% simple interest. If he neither Lo cabuall e Jlgal ca of ddLialy als al |,
adds nor withdraws money from the ?{.\bﬁi 4 93 i Lﬁ;&.ll e

account, how much interest will he

earn in 4 years?

AED 120

AED 6000

AED 3000



Q.24: Use proportional relationships to solve percent error problems Mark(s): 5/5

A worker estimates that it will take sy cilelu 9 (8 aionw 43 Jale jad
him 9 hours to complete his job. Aoty 12 B il adlgl) B .45ddag
It actually takes him 12 hours. Caladl juafi & Uadlt digial) dacil) o L

What is the percent error of the

worker’s estimate?

| 25%
75%

b.
30%
50%



Q.25: Subtract rational numbers Mark(s): 0/5

13 7 13 AN
Find — — (— —). — (— —) )
16 8 16 8



